CJ' doubtnut

India's Number 1 Education App

CHEMISTRY

BOOKS - GRB CHEMISTRY (HINGLISH)

SURFACE CHEMISTRY

Surface Chemistry

1. Which of the following statements about chemisorption is not
applicable?
A. It involves chemical forces between adsorbent and adsorbate
B. It is irreversible in nature
C. It involves high heat of adsorption

D. It does not require activation energy


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_GtTQ2Ahem4KZ

Answer: D

o Watch Video Solution

2. Adsorption is the phenomenon in which a substance :

A. accumulates on the surface of the other substance

B. goes into the body of the other substance

C.remains close to the other substance

D. none of these

Answer: A

° Watch Video Solution

3.There is desorption of physical adsorption when


https://dl.doubtnut.com/l/_GtTQ2Ahem4KZ
https://dl.doubtnut.com/l/_Oi7mTNuNocv8
https://dl.doubtnut.com/l/_K88RA4VOb5kS

A. temperature is increased

B. temperature is decreased

C. pressure is increased

D. concentration is increased

Answer: A

o Watch Video Solution

4. Which of the following is not a characteristic of chemisorption?

A. lt is reversible
B. It is specific
C. It is multilayer

D. Heat of adsorption is about 400k.J

Answer: C


https://dl.doubtnut.com/l/_K88RA4VOb5kS
https://dl.doubtnut.com/l/_kdMSQGtJuMyz

° Watch Video Solution

5. The following statements relate to the adsorption of gases on a

solid surface. Identify the incorrect statement among them.

A.On adsorption, the residual forces on the surface are

increased

B. On adsorption, decrease in surface energy appears as heat

C. Entropy of adsorption is negative

D. Enthaply of adsorption is negative

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kdMSQGtJuMyz
https://dl.doubtnut.com/l/_MdTwZkgWikFQ

6. Finely divided catalyst has greater surface area and has greater
catalytic activity than the compact solid. If a total surface area of
6291456 cm? is required for adsorption in a catalytic gaseous
reaction, then how many splits should be made in a cube of exactly
1cm in length to achieve required surface area?
[Given : One split of a cube gives eight cubes of same size]

A. 60

B. 80

C. 20

D. 22

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tFVVEyvDd4k1

7.Volume of N, at 1 atm, 273 K required to form a monolayer on the
surface of iron catalyst is 8.15ml / gm of the adsorbent. What will
be the surface area of the adsorbent per gram if each nitrogen
molecule occupies 16 x 10~ *22m??
[Take : Ny = 6 x 10%]

A. 16 x 10~ em?

B.0.35m% /g

C.39m? /g

D. 22400cm>

Answer: B

o Watch Video Solution

8.The rate of chemisorption :


https://dl.doubtnut.com/l/_7TXfYxyWXDnx
https://dl.doubtnut.com/l/_nEjWj8nqfWXt

A. decreases with increase of pressure

B. increases with increase of pressure

C.is independent of pressure

D. is independent of temperature

Answer: B

o Watch Video Solution

9.Softening of hard water is done using sodium aluminium silicate
(zeolite) . This causes
A. adsorption of Ca®?" and Mg®" ions of hard water replacing
Na™ ions.
B. adsorption of Ca?™ and Mg?" ions of hard water replacing

AT ions.


https://dl.doubtnut.com/l/_nEjWj8nqfWXt
https://dl.doubtnut.com/l/_IXmkhlp0aVet

C. both (a) and (b)’

D. none of the above

Answer: A

o Watch Video Solution

10. The pressure of the gas was found to decrease from 720 to 480
mm. When 5g of sample of activated charcoal was kept in a flask of
one litre capacity maintained at 27° C. If the density of charcoal is
1.25gm /mL. The volume of gas adsorbed per gm of charcoal at
480 mm of Hg is :

A.80.03mL

B. 32.20mL

C.100.08mL

D. 100.61mL


https://dl.doubtnut.com/l/_IXmkhlp0aVet
https://dl.doubtnut.com/l/_cNU1GKRFsZNl

Answer: D

o Watch Video Solution

11. Which is not purely surface phenomena?

A. Surface tension

B. Adsorption

C. Absorption

D. None of these

Answer: C

o Watch Video Solution

12. Soaking of water by a sponge is an example of


https://dl.doubtnut.com/l/_cNU1GKRFsZNl
https://dl.doubtnut.com/l/_k4LaKfF4AjJn
https://dl.doubtnut.com/l/_2m33ODtTu3vS

A. Simple adsorption

B. Physical adsorption

C. Chemisorption

D. Absorption

Answer: D

o Watch Video Solution

13. The rate of physisorption increases with

A. decrease in temperature
B. increase in temperature
C. decrease in pressure

D. decrease in surface area

Answer: A


https://dl.doubtnut.com/l/_2m33ODtTu3vS
https://dl.doubtnut.com/l/_HTCRW9axYpb8

° Watch Video Solution

14. Adsorpton of gases on solid surface is generally exothermic
because :

A. enthalpy is positive

B. entropy decreases

C. entropy increases

D. free energy increases

Answer: B

o Watch Video Solution

15. Which is not correct for physical adsorption ?

A. Adsorption on solids is reversible.


https://dl.doubtnut.com/l/_HTCRW9axYpb8
https://dl.doubtnut.com/l/_MkZ27tNlS4A2
https://dl.doubtnut.com/l/_3AHgfj4dWgLs

B. Adsorption increases with increase in temperature.

C. Adsorption is spontaneous

D. Both enthalpy and entropy of adsorption are negative.

Answer: B

o Watch Video Solution

16. In Langumir's model of adosrption of a gas on a solid surface :

A.the rate of dissociation of adsorbed molecules from the

surface does not depend on the surface covered

B.the adsorption at a single site on the surface may involve

multiple molecules at the same time

C.the mass of gas striking a given area of surface is

proportional to the pressure of the gas


https://dl.doubtnut.com/l/_3AHgfj4dWgLs
https://dl.doubtnut.com/l/_VHLUT93C3kMH

D.the mass of gas striking a given area of surface is

independent of the pressure of the gas

Answer: C

o Watch Video Solution

17. In context with the industrial preparation of hydrogen from
water gas (CO + H,) , which of the following is the correct
statement ?

A. CO is removed by absorption in aqueous CusCl; solution

B. Hy is removed through occlusion with Pd

C.CO is oxidized to CO, with steam in the presence of a

catalyst followed by absorption of C'O, in alkali


https://dl.doubtnut.com/l/_VHLUT93C3kMH
https://dl.doubtnut.com/l/_51TfSiDZh039

D. CO and H, are fractionally separated using difference in their

densities

Answer: C

o Watch Video Solution

18. Which of the following statements is incorrect regarding
physisorption?
A. More easily liquefiable gases are adsorbed readily.
B. Under high pressure it results into multi molecular layer on
adsorbent surface.
C. Enthalpy of adsorption (A Hjgsorptoin) is low and positive.

D. It occurs because of van der Waals' forces.

Answer: C


https://dl.doubtnut.com/l/_51TfSiDZh039
https://dl.doubtnut.com/l/_iJPFaasiSw1o

° Watch Video Solution

19. Which of the following is incorrect?

A. Enthalpy (numerical value) of physisorption is greater than

that of chemisorption

B. Physisorption is not very specific but chemisorption is highly

specific

C. Chemisorption takes place at relatively high temperatures

D. In physisorption generally multi-molecular layers are formed

on the adsorption

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iJPFaasiSw1o
https://dl.doubtnut.com/l/_kMvw8RyAW9eX

20. Which of the following gases, will be adsorbed maximum on a

solid surface?

A.CO,

B. O,

C. N,

D. H,

Answer: A

° Watch Video Solution

21. Which of the following relations is(are) correct according to
Freundlich?

(P)x/m = constant ,


https://dl.doubtnut.com/l/_AXJZ7E0aifu3
https://dl.doubtnut.com/l/_DnoW8x9eOafk

(Q) x/m = constant x pl/"(n > 1),
(S) x/m = constant x p"(n > 1)

A. All are correct

B. All are wrong

C.(Q) is correct

D.(R) is correct

Answer: C

o Watch Video Solution

22.The principle involved in the chromatographic operation is :

A. adsorption

B. absorption

C. partition


https://dl.doubtnut.com/l/_DnoW8x9eOafk
https://dl.doubtnut.com/l/_6TAGe09YjJZ3

D. none of these

Answer: A

° Watch Video Solution

23.The physical adsorption of gases on the solid surface is due to :

A. van der Waal's forces

B. covalent bonding

C. hydrogen bonding

D. all of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6TAGe09YjJZ3
https://dl.doubtnut.com/l/_tA0Zkxi7w1Wv

24. Which of the following interface cannot be obtained?

A. Liquid-Liquid

B. Solid-Liquid

C. Liquid-Gas

D. Gas-Gas

Answer: D

° Watch Video Solution

25. Which of the following is not a favourable condition for physical

adsorption?

A. High pressure

B. Negative AH


https://dl.doubtnut.com/l/_zg5VxdUPX9Gi
https://dl.doubtnut.com/l/_pi3Eq5DjGirf

C. Higher critical temperature of adsorbate

D. High temperature

Answer: D

o Watch Video Solution

26. Which of the following is an example of absorption?

A. Water on silica gel
B. Water on calcium chloride
C. Hydrogen on finely divided nickel

D. Oxygen on metal surface

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pi3Eq5DjGirf
https://dl.doubtnut.com/l/_HjpkMPAtaAUY

27. Spontaneous adsorption of a gas on solid surface is an

exothermic process because

A. enthalpy of the system increases.

B. entropy increases.

C. entropy decreases.

D. free energy change increases.

Answer: C

° Watch Video Solution

28. Correct eqution of Freundlich isothermis :

1
A. log( ) = log K + ;logC

3=

B. log( ) = logm + %logC’

3=


https://dl.doubtnut.com/l/_eS47UlEw3mfq
https://dl.doubtnut.com/l/_c9X9dgpxhezU

T 1
C. log(ﬁ> =logC + ElogC’
D.1 (”3)—1 O+ Liogk
.log —) = og - og
Answer: A

° Watch Video Solution

29. 100 mL of 0.3 M acetic acid is shaken with 0.8 g wood charcoal.
The final concentration of acetic acid in the solution after
adsorption is 0.125 M. The mass of acetic acid adsorbed per gram of
charcoal is :

A. 1.05g

B.0.0131g

C.1.31g

D.0.131g


https://dl.doubtnut.com/l/_c9X9dgpxhezU
https://dl.doubtnut.com/l/_0KNbC6umf0dF

Answer: C

o Watch Video Solution

30. A substance is analyzed by paper chromatography, giving the

chromatogram shown.

start 1 solvent front l

[ 1 o | |

T ! \
0.0 2.0 4.0 6.0 8.0 10.0 120cm

What is the Ry value of the substance represented by the spot at

8.0cm?

A.0.80

B.0.75

C.0.67

D. 0.60


https://dl.doubtnut.com/l/_0KNbC6umf0dF
https://dl.doubtnut.com/l/_kwkAJd3Z0kZt

Answer: B

o Watch Video Solution

31. Which of the following parameter is correct regarding
adsorption of gases over solid?

A. ASsystem > 0

B. ASsurrounding >0

CAG >0

D.AH >0

Answer: B

° Watch Video Solution

B Catalysis


https://dl.doubtnut.com/l/_kwkAJd3Z0kZt
https://dl.doubtnut.com/l/_2vAC2033zzRB

1. Which one is false in the following statement?

A. A catalyst is specificin its action

B.A very small amount of the catalyst alters the rate of a

reaction

C. The number of free vacancies on the surface of the catalyst

increases on sub-division

D. Ni is used as a catalyst in the manufacture of ammonia.

Answer: D

° Watch Video Solution

2. A catalyst increase rate of reaction by:

A. decreasing enthalpy


https://dl.doubtnut.com/l/_5lzy72kXPQTG
https://dl.doubtnut.com/l/_CNQj8Zrnyx1B

B. decreasing internal energy

C. decreasing activation energy

D. increasing activation energy

Answer: C

o Watch Video Solution

3. Identify the option correctly representing True/False nature of
the statements.

Statement-1: Changing the catalyst can change the final product
obtained in some reaction.

Statement-2: Catalyst cannot change equilibrium constant of a
reaction.

Statement-3: Lacto bacilli enzyme is responsible for curd formation

from milk.


https://dl.doubtnut.com/l/_CNQj8Zrnyx1B
https://dl.doubtnut.com/l/_1s36EsKJOcI4

Statement-4: A promotor when taken without catalyst will always

increase rate of reaction.

A. All are true.

B. Statement-4 is the only false statement.

C. Statement-2 and Statement-3 are the only true statements.

D. All are incorrect.

Answer: B

o Watch Video Solution

4. A negative catalyst will :

A. raise the energy of activation for a given reaction

B.take away the internal energy of reactants and deactivate

them


https://dl.doubtnut.com/l/_1s36EsKJOcI4
https://dl.doubtnut.com/l/_wLGmpl1w4k72

C. catalyse the backward reaction more than the forward one,

thereby shifting equilibrium backward

D. none of these

Answer: A

o Watch Video Solution

5. Heterogeneous catalysis is successfully explained by......
Theory.

A. Heterogeneous catalysis

B. Enzyme catalysis

C. Homogeneous catalysis

D. Acid base catalysis

Answer: A


https://dl.doubtnut.com/l/_wLGmpl1w4k72
https://dl.doubtnut.com/l/_AmYFptEUVsnu

° Watch Video Solution

6. Identify the correct statement regarding enzymes.

A. Enzymes are specific biological catalysts that can normally

function at very high temperature (T = 1000 K).

B. Enzymes are normally heterogeneous catalysts that are very

specific in action.

C.Enzymes are specific biological catalysts that cannot be

poisoned.

D. Enzymes are non-biological catalysts.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AmYFptEUVsnu
https://dl.doubtnut.com/l/_5tzlCdxVyYrq

7. Which of the following statement(s) is/are true?

A.The concentration of a homogeneous catalyst may appear in

the rate expression.

B. A catalyst is always consumed in the reaction.

C. A catalyst must always be in the same phase as the reactants.

D. None of the above

Answer: A

o Watch Video Solution

8. Arrange the following diagrams in correct sequence of steps

involved in the mechanism of catalysis, in accordance with modern


https://dl.doubtnut.com/l/_E9I9G5rA4O2n
https://dl.doubtnut.com/l/_9vLlErzb7j8i
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https://dl.doubtnut.com/l/_9vLlErzb7j8i

AP—-Q—>R—->S8—T

BP—-R—->Q—S—T

CP—-R—->Q—>T-—S

DDP—-Q—R—-T—S

Answer: C

o Watch Video Solution

9. Which can be used as a catalyst in an esterification reaction?

(P) NaOH (Q) H550,

A.Ponly

B.Q only

C.Both Pand Q

D. Neither Pand Q


https://dl.doubtnut.com/l/_9vLlErzb7j8i
https://dl.doubtnut.com/l/_HipzVHQwUaJa

Answer: B

° Watch Video Solution

10. Introduction of two drops of concentrated sulphuric acid,
H,50,, speeds up an esterification reaction. Introduction of a
piece of platinum metal, Pt, speeds up the reaction of Hy and O,
gas. Which of the following statements is true?
A.Pt is a homogeneous catalyst, H,SO, is a heterogeneous
catalyst.
B. Pt is a heterogeneous catalyst, H,SO,4 is a homogeneous
catalyst.

C.Pt and Hy,50, are both heterogeneous catalysts.

D. Pt and H,S50, are both homogeneous catalysts.


https://dl.doubtnut.com/l/_HipzVHQwUaJa
https://dl.doubtnut.com/l/_JjoN2mGmUdnU

Answer: B

o Watch Video Solution

11. Automobile catalytic converters are designed to :

A. oxidize both CO and NO,

B. reduce both CO and NO,,

C. oxidize CO and reduce NO,

D. reduce CO and oxidize NO,,

Answer: c

o Watch Video Solution

12. Which of the following examples demonstrate homogeneous

catalysis?



https://dl.doubtnut.com/l/_JjoN2mGmUdnU
https://dl.doubtnut.com/l/_3vcqzz7vgO2w
https://dl.doubtnut.com/l/_LEjy3Hnrq6rq

(P) Pt(s) catalyzing the reaction of O, (g) with CO(g)
(Q) Cly(g) catalyzing the decomposition of O3(g)

(R) Hy05(aq) decomposition catalyzed by Bry(aq)

A.Ponly

B.Q only
C.Pand R only

D.Q and R only

Answer: D

o Watch Video Solution

C Classification Of Colloids

1. The colloidal solutions of gold prepared by different methods

have different colors due to :


https://dl.doubtnut.com/l/_LEjy3Hnrq6rq
https://dl.doubtnut.com/l/_Sx5n8NJ4FE9T

A. different diameters of colloidal gold particles

B. variable valency of gold

C. different concentration of gold particles

D. impurities produced by different methods

Answer: A

o Watch Video Solution

2. An example of intrinsic colliod (lyophilic colloids) is :

A. AsySss0l

B. Fe(OH)4sol
C. Egg albumin

D. Au sol

Answer: C


https://dl.doubtnut.com/l/_Sx5n8NJ4FE9T
https://dl.doubtnut.com/l/_dFlyfrdNWTm7

° Watch Video Solution

3. Which of the following sols is positively charged?

A. Arsenious sulphide
B. Aluminium hydroxide
C. Ferric hydroxide

D. Silver iodide in silver nitrate solution

Answer: D

o Watch Video Solution

4. Which fo the folowing statement is not correct for a lyophobic

solution?

A. It can be easily solvated



https://dl.doubtnut.com/l/_dFlyfrdNWTm7
https://dl.doubtnut.com/l/_p8EefGd2wMTe
https://dl.doubtnut.com/l/_7L9w12hVRGxA

B. It carries charges

C. The coagulation of this sol is irreversible in nature

D. It is less stable in a solvent

Answer: A

o Watch Video Solution

5. which of the following statements is correct for a lyophilic

solution?

A. lt is not easily solvated

B. It is unstable

C. The coagulation of this sol is irreversible in nature

D. It is quite stable in a solvent

Answer: D


https://dl.doubtnut.com/l/_7L9w12hVRGxA
https://dl.doubtnut.com/l/_GSFYes63qUoW

o Watch Video Solution

6. Liquid-Liquid sol is known as

A. aerosol

B. foam

C.emulsion

D. gel

Answer: C

o Watch Video Solution

7. The colloidal system consisting of a liquid adsorbete in a solid

adsorbent is termed as:

A. aerosol



https://dl.doubtnut.com/l/_GSFYes63qUoW
https://dl.doubtnut.com/l/_r8t2AugbuI1o
https://dl.doubtnut.com/l/_zeVVaYsNggyG

B. foam

C. emulsion

D. gel

Answer: D

° Watch Video Solution

8. Which of the following statements is not correct?

A. A colloidal solution is a heterogeneous two-phase system.

B. Silver sol in water is an example of lyophilic solution.

C. Metal hydroxides in water are examples of lyophobic solution.

D. Liquid-liquid colloidal solution is not a stable system.

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_zeVVaYsNggyG
https://dl.doubtnut.com/l/_pYODD13JIEIn

9. A liquid is found to scatter a beam of light but leaves no residue

when passed through the filter paper.

A. a suspension

B. oil

C. a colloidal sol

D. a true solution

Answer: C

o Watch Video Solution

10. size of colloidal particles may range from:

A.1to 1000 nm


https://dl.doubtnut.com/l/_pYODD13JIEIn
https://dl.doubtnut.com/l/_EyBMD00ah2Wh
https://dl.doubtnut.com/l/_4h3eLZYD6v1t

B.10 to 100 pm

C.1to 100 um

D.1to 10 mm

Answer: A

° Watch Video Solution

11. which of the following represents a multimolecular colloidal

paricles?

A. Starch

B. A sol of gold

C. Proteins

D. Soaps

Answer: B


https://dl.doubtnut.com/l/_4h3eLZYD6v1t
https://dl.doubtnut.com/l/_ms9rm2ovnmOx

o Watch Video Solution

12. Which of the following represents macromolecular colloidal

particles?

A. Solution of gold

B. Cellulose

C. Soaps

D. Synthetic detergents

Answer: B

° Watch Video Solution

13. Select correct statements(s).


https://dl.doubtnut.com/l/_ms9rm2ovnmOx
https://dl.doubtnut.com/l/_agnNjs2xRmyo
https://dl.doubtnut.com/l/_zKec3LnEDKD0

A. Hydrophilic colloid is a colloid in which there is a strong

attraction between the dispersed phase and water.

B. Hydrophobic colloid is a colloid in which there is a lack of

attraction between the dispersed phase and water.

C. Hydrophobic sols are often formed when a solid crystallises

rapidly from a chemical reaction or a supersaturated solution.

D. All of the above

Answer: D

° Watch Video Solution

14. Which one of the following statements is false for hydrophilic

sols?

A.They do not require electrolytes for stability


https://dl.doubtnut.com/l/_zKec3LnEDKD0
https://dl.doubtnut.com/l/_dBSejHXO2xuJ

B. Their viscosity is of the order of that of water

C. Their surface tension is usually lower than that of dispersion

medium

D. None of the above

Answer: B

o Watch Video Solution

15. Lyophilic sols are

A. irreversible sols

B. they are prepared from inorganic compound
C. coagulated by adding electrolytes

D. self-stabilizing

Answer: D


https://dl.doubtnut.com/l/_dBSejHXO2xuJ
https://dl.doubtnut.com/l/_zPCgaEmG9HiA

o Watch Video Solution

16. The volume of colloidal particles V, as compared ot the volume

of solute particles in true solution V, could be :

Answer: D

° Watch Video Solution

17. surface tension of lyophilic sols is

A. lower than that of H,O


https://dl.doubtnut.com/l/_zPCgaEmG9HiA
https://dl.doubtnut.com/l/_BZgY3p8VS7dZ
https://dl.doubtnut.com/l/_i4dEMSOp4sQe

B. more than that of H,O

C. equal to that of H,O

D. none of the above

Answer: A

° Watch Video Solution

18. the stability of lyophilic colloids is due to

A. Charge on their particles

B. Large size of their particles

C. Small size of their particles

D. Solvation by dispersion medium

Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_i4dEMSOp4sQe
https://dl.doubtnut.com/l/_Ft9QK98P8qol

19. Which one is a colloid solution?

A. NaCl

B. Urea

C. Cane sugar

D. Blood

Answer: D

° Watch Video Solution

20. Fog is an example of

A. liquid dispersed in gas

B. gas dispersed in gas


https://dl.doubtnut.com/l/_Ft9QK98P8qol
https://dl.doubtnut.com/l/_AKaaYIamXOds
https://dl.doubtnut.com/l/_1lpF2XB6ai6g

C.solid dispersed in gas

D. solid dispersed in liquid

Answer: A

o Watch Video Solution

21. Which one of the following is not a colloidal solution?

A. Smoke
B. Ink
C. Air

D. Blood

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1lpF2XB6ai6g
https://dl.doubtnut.com/l/_it6XwViPVVg9

22. Positive sol is :

A. Gold

B. gelatin

C. A8253

D. none of these

Answer: B

° Watch Video Solution

23.Which one is a lyophobic colloid?

A. Gelatin

B. Starch

C. Sulphur sol


https://dl.doubtnut.com/l/_3PKSC225ie7X
https://dl.doubtnut.com/l/_kmsoJGT7jsil

D. Gum arabic

Answer: C

o Watch Video Solution

24.Smoke is an example of :

A. gas dispersed in liquid

B. gas dispersed in solid

C.solid dispersed in gas

D. solid dispersed in solid

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kmsoJGT7jsil
https://dl.doubtnut.com/l/_7nhT6FTkuERQ

25. A colloid always :

A. contains two phases

B. is a true solution

C. contains three phases

D. contains only water soluble particles

Answer: A

° Watch Video Solution

26. Lyophobic colloids are :

A. reversible colloids

B. irreversible colloids

C. protective colloids


https://dl.doubtnut.com/l/_IFpjTbDA31GR
https://dl.doubtnut.com/l/_TYgFdwQ06Kpf

D. gum proteins

Answer: B

o Watch Video Solution

27.The size of a colloidal particle is :

A > 0.1p

B.1lmu to 0.1u

C. <0.1u

D. more than 3000m u

Answer: B

O Watch Video Solution



https://dl.doubtnut.com/l/_TYgFdwQ06Kpf
https://dl.doubtnut.com/l/_GxJQxpf2POh2

28. In which of the following colloidal solution dispersed phase is

liquid while dispersion medium is gas?

A. Cloud

B. smoke

C. Milk

D. Dust

Answer: A

o Watch Video Solution

D Purification And Preparation Of Colloid

1. the colloidal sols are purified by

A. dialysis


https://dl.doubtnut.com/l/_Mva795WoiDb1
https://dl.doubtnut.com/l/_abtcrE9vsvvO

B. peptization

C. filtration

D. oxidation

Answer: A

o Watch Video Solution

2. Peptisation is :

A. conversion of a colloidal into precipitate form

B. conversion of precipitate into colloidal sol

C. conversion of metal into colloidal sol by passage of electric

current

D. conversion of colloidal sol into macromolecules

Answer: B


https://dl.doubtnut.com/l/_abtcrE9vsvvO
https://dl.doubtnut.com/l/_T8ZPqI0FdltK

° Watch Video Solution

3. Bleeding is stopped by the application of ferric-chloride this is

because:

A. the blood starts flowing in opposite direction

B.the blood reacts and forms a solid, which seals the blood

vessel

C.the blood is coagulated and thus the blood vessel is sealed

D. the ferric chloride seals the blood vessel

Answer: C

° Watch Video Solution

4. Which of the following statements is not correct?


https://dl.doubtnut.com/l/_T8ZPqI0FdltK
https://dl.doubtnut.com/l/_T3kz4TK2Re7a
https://dl.doubtnut.com/l/_0C6q5VD1FgCY

A. Peptization is the process by which certain substances are

converted into the colloidal state.

B. Metal sol of gold, silver and platinum can be prepared by

Bredig's arc method.

C. Impurities present in a solution makes it more stable.

D. Dialysis is a process to remove impuritites of ions and

molecules from a solution.

Answer: C

° Watch Video Solution

5. A reddish brown sol (containing F63+) is obtained by :

A.the addition of small amount of FeCl3 solution to freshly

prepared Fe(OH), precipitate


https://dl.doubtnut.com/l/_0C6q5VD1FgCY
https://dl.doubtnut.com/l/_6chuCiehNxNZ

B. the addition of Fe(OH);, to freshly prepared FeCl; solution
C. the addition of NH,OH to FeCl3 solution dropwise

D. the addition of NaOH to F'eC'l3 solution dropwise

Answer: A

o Watch Video Solution

6. The stabilization of a lyophobic colloid is due to :

A. preferential adsorption of similar charged particle on

colloidal surface.

B. the large electro-kinetic potential developed in the colloid.

C. the formation of a covalent bond between two phases.

D. the viscosity of the medium.

Answer: A


https://dl.doubtnut.com/l/_6chuCiehNxNZ
https://dl.doubtnut.com/l/_J2XZrH0H8QUS

° Watch Video Solution

7.Which one of the following statements is correct?

A. Brownian movement is more pronounced for smaller particles

than for bigger ones

B. Sols of metal sulphides are lyophilic

C. Schulze-Hardy law states, the bigger the size of the ion, the

greater is its coagulating power

D.One would expect charcoal to adsorb hydrogen gas more

strongly than chlorine.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_J2XZrH0H8QUS
https://dl.doubtnut.com/l/_6JejHpIjsh6F

8. The potential differnce between the fixed particles layer and the
diffused layer having opposite charge id called :

A. water potential

B. zeta potential

C. electrode potential

D. none of these

Answer: B

° Watch Video Solution

9. Peptization is a process of :

A. precipitation of colloidal particles

B. purification of colloids


https://dl.doubtnut.com/l/_I4whDmr4hFhG
https://dl.doubtnut.com/l/_pDt3jVH6xc6u

C. dispersing precipitate into colloidal sols

D. movement of colloidal particles in the electrical field

Answer: C

o Watch Video Solution

10. Colloidal solution of silver is prepared by :

A. Colloidal milk

B. Double decomposition method

C. Bredig's method

D. Peptization

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pDt3jVH6xc6u
https://dl.doubtnut.com/l/_0z9IHUZ7bSEw

11. The fresh precipitate can be transformed in colloidal state by

A. Peptization

B. diffusion

C. coagulation

D. dialysis

Answer: A

o Watch Video Solution

12. When freshly precipitated Fe(OH), is shaken with aqueous
solution of FeCl3, a colloidal solution is formed. The process is
known as :

A. emulsification

B. coagulation


https://dl.doubtnut.com/l/_mCTe5yB3HSPY
https://dl.doubtnut.com/l/_c4SvVEiv2RsB

C. peptization

D. electro-osmosis

Answer: C

o Watch Video Solution

E Coagulation Protection And Application Of Colloids

1. Gold number of a lyphilic sol is such property that:

A. that larger its value, the greater is the peptising power

B. the lower its value, the greater is the peptising power

C. the lower its value, the greater is the protecting power

D. the larger its value, the greater is the protecting power

Answer: C


https://dl.doubtnut.com/l/_c4SvVEiv2RsB
https://dl.doubtnut.com/l/_c5h8leCh9Idf

° Watch Video Solution

2. Protective sols are:

A. lyophilic

B. lyophobic

C. both (a) and (b)

D. none of (a) and (b)

Answer: A

o Watch Video Solution

3. For the coagulation of 200mL of AsyS3 solution 10mL of

1M NaCl is required. What is the coagulationg value (number of


https://dl.doubtnut.com/l/_c5h8leCh9Idf
https://dl.doubtnut.com/l/_dhETFQVXJiBf
https://dl.doubtnut.com/l/_JbOJZqLMspld

milimoles of solute needed for coagulation of 1 litre of solution) of

NaCl.

A.200

B. 100

C.50

D. 25

Answer: C

o Watch Video Solution

4. Which of the following ions is most effective in the coagulation

of an arsenious suphide solution?

AK™T

B. Mg+


https://dl.doubtnut.com/l/_JbOJZqLMspld
https://dl.doubtnut.com/l/_kpmyhP59EP2H

C.APT

D.Cl™

Answer: C

o Watch Video Solution

5. Which of the following ions is most effective in the coagulation
of ferric hydroxide solution?

ACl™

B. Br~

C.NO,

D.SO;~

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kpmyhP59EP2H
https://dl.doubtnut.com/l/_IffZT4Y1QdXI

6. Coagulation value of the electrolytes AICl3 and NacCl for As,Ss
sol are 0.093 and 52 respectively. How many times AlCI3; has
greater coagulating power than NacCl?

A.930

B. 520

C. 560

D. None of these

Answer: C

o Watch Video Solution

7. Which of the following anions will have minimum flocculation

value for the ferric oxide solution?


https://dl.doubtnut.com/l/_IffZT4Y1QdXI
https://dl.doubtnut.com/l/_QJuzIBDxvlyQ
https://dl.doubtnut.com/l/_iasPne5RL6OB

ACl™

B. Br—
9

C. S50,

D. [Fe(CN)gI*~

Answer: B

o Watch Video Solution

8. Which is an example of coagulation?

A. Curdling of milk

B. Purification of water by addition of alum

C. Formation of deltas at the river beds

D. All the three are examples of coagulation

Answer: D


https://dl.doubtnut.com/l/_iasPne5RL6OB
https://dl.doubtnut.com/l/_S1pm7JA4JWhI

o Watch Video Solution

9. Gold number of some lyophilic sols are :

(P) : Casein - 0.01
(Q) : Haemoglobin : 0.03
(R) : Gum arabic : 0.15

(S) : Sodium oleate : 0.40

Which has maximum protective power?

AP

B.Q
C.R

D.S

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_S1pm7JA4JWhI
https://dl.doubtnut.com/l/_zJLH8Kucksty

10. A colloidal solution is subjected to an electrical field. The particle
move towards anode. The coagulation of same sol is studied using
NaCl, BaCl, and AlCl3; solutions. Their coagulating power
should be

A. NaCl > BaCl, > AlCl;

B. BaCly, > AlCl3 > NaCl

C. AlCl; > BaCl, > NaCl

D. BaCly, > NaCl > AlCl;

Answer: C

° Watch Video Solution

11. Which of the following is most effective in coagulating a ferric

hydroxide sol ?


https://dl.doubtnut.com/l/_VfqnlMHfpQaA
https://dl.doubtnut.com/l/_WGkTElJrLH8f

A. KCl
B. KNO,
C. K550,

D. K3[Fe(CN)]

Answer: D

o Watch Video Solution

12. Smoke has generally blue tinge. It is due to

A. Scattering of light

B. coagulation

C. Brownian motion

D. electro-osmosis

Answer: A


https://dl.doubtnut.com/l/_WGkTElJrLH8f
https://dl.doubtnut.com/l/_XBvDrGsrcBtf

° Watch Video Solution

13. Gold number of haemoglobin is 0.03. Hence, 100 mL of gold sol
will require how many mg haemoglobin so that gold is not
coagulated by 1 mL of 10 % NaCl solution?

A.0.03mg

B.30 mg

C.0.30mg

D.3 mg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XBvDrGsrcBtf
https://dl.doubtnut.com/l/_9dLKdpYUpwOx

14. Arsenic (lll) sulphide forms a sol with a negative charge. Which
of the following ionic substances should be most effective in
coagulating the sol?

A. KCl

B. MgCl,

C. Al3(SO0y4),

D. NCL3PO4

Answer: C

o Watch Video Solution

15.Blood is purified by :

A. dialysis

B. electro-osmosis


https://dl.doubtnut.com/l/_OvWR4dF7kcMX
https://dl.doubtnut.com/l/_dXaM5QZvhRLn

C. coagulation

D. filtration

Answer: A

o Watch Video Solution

16. Most effective ion to coagulate a negative sol is :

3_
A. PO4
B. AI®T
C. Ba®™*

D.K™

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_dXaM5QZvhRLn
https://dl.doubtnut.com/l/_soaUjgYQbCYs

17. Identify the statement which is correct wurt. surface

phenomenon.

A. Osmotic pressure of rubber sol will be same as that of

sucrose solution having same mass mixed in same mass of

H,O

B.A gas may show physisorption at low temperature and

chemisorption at higher temperatures.

C. Soap sol of sodium palmitate will be coagulated near cathode

on electrophoresis.

D. Gold sol on mixing with starch sol causes stablisation of

starch sol.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_JRNgG87onZbO

18. Which of the following electrolytes is most effective in the
coagulation of gold solution?

A. NCLN03

B. Ky [Fe(CN)g]

C. N0,3PO4

D. MgCl2

Answer: D

° Watch Video Solution

19. Which of the following is property of colloid?

A. Scattering of light

B. Shown attraction


https://dl.doubtnut.com/l/_510YiKWu7Alp
https://dl.doubtnut.com/l/_Zkfnl5pSUG1L

C. dialysis

D. emulsion

Answer: A

o Watch Video Solution

20. An arsenious sulphide sol carries a negative charge . The

maximum precipitating power for this sol is possessed by

A K,S0,

B. CCI,CZQ

C. Na3PO4

D. AlCl,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Zkfnl5pSUG1L
https://dl.doubtnut.com/l/_jhFDFhkyaS9O

21. Tyndall effect is shown by

A. sol
B. solution
C.plasma

D. precipitation

Answer: A

o Watch Video Solution

22, According to Hardy Schulze rule, the power of coagulation of an

ion depends upon.......

A.Nat > Ba®t > APBT

B.AI’T > Ba®’* > Na™t



https://dl.doubtnut.com/l/_jhFDFhkyaS9O
https://dl.doubtnut.com/l/_LOrKSFJ0neLO
https://dl.doubtnut.com/l/_hmy2HkRlQg2g

C.Ba®’" > AP*T > Na™

D. AP > Nat > Ba®™

Answer: B

° Watch Video Solution

23. Among the electrolytes
Nay, SO4, CaCly, Aly(SO4); and NH,Cl, the most effective
coagulating agent for §byS3 sol is

A Na2504

B. CaC’l2

C. Al5(S04),

D. NH,CI

Answer: C



https://dl.doubtnut.com/l/_hmy2HkRlQg2g
https://dl.doubtnut.com/l/_2Hm02uCtlJLq

| o Watch Video Solution

24.The dispersed phase in colloidal iron (llI) hydroxide and collodial

gold is positively and negtively charged respectively with of the

following statement is not correct ?

A. Coagulation in both sols can be brought about by

electrophoresis.

B. Mixing the sols has no effect.

C. Sodium sulphate solution causes coagulation in both sols

D. Magnesium chloride solution coagulates, the gold sol more

readily than the iron (Ill) hydroxide sol.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2Hm02uCtlJLq
https://dl.doubtnut.com/l/_L7nHQlVCnRtX
https://dl.doubtnut.com/l/_6R9W1V3JSpeh

25. Gold numbers of protective colloids A, B,C and D are
0.5,0.01, 0.10 and 0.005 respectivaly. The correct order of their
protective power is

AC<B<D<A

BA<C<B<D

CB<D<A<C

DDD<A<C<B

Answer: B

o Watch Video Solution

26. On passing light from colloidal solution, the effect due to

scattering of light is known as :

A. electrophoresis


https://dl.doubtnut.com/l/_6R9W1V3JSpeh
https://dl.doubtnut.com/l/_dMATGL0gcRYp

B. tyndall effect

C. electrosmosis

D. coagulation

Answer: B

° Watch Video Solution

27. The solution in which the light is scattered by the particles is :

A. suspension

B. colloidal solution

C. true solution

D. none of these

Answer: B

| o View Text Solution


https://dl.doubtnut.com/l/_dMATGL0gcRYp
https://dl.doubtnut.com/l/_FzgKELtoAMOv

28. The charge on AsyS3 sol is due to the adsorbed :

AH™"

B.OH ~

C.02

D.S%~

Answer: D

° Watch Video Solution

29. Sky looks blue due to

A. dispersion

B. reflection


https://dl.doubtnut.com/l/_FzgKELtoAMOv
https://dl.doubtnut.com/l/_XaqYNLLuee6h
https://dl.doubtnut.com/l/_lIPNuhqUa8DF

C. transmission

D. scattering

Answer: D

o Watch Video Solution

30. Gold number is minimum in case of..............

A. Gelatin

B. egg albumin

C. gumarabic

D. starch

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lIPNuhqUa8DF
https://dl.doubtnut.com/l/_0CrEPh3Pyh8x

31. Tyndall effect will be observed in :

A. solution

B. precipitate

C.sol

D. vapour

Answer: C

° Watch Video Solution

32.The Brownian motion is due to :

A. temperature fluctuation within the liquid phase

B. attraction and repulsion between charge on the colloidal

particles



https://dl.doubtnut.com/l/_Kc6ODjB6zPR9
https://dl.doubtnut.com/l/_orgfe8trstpE

C.impact of molecules of the dispersion medium on the

colloidal particles

D. convective current

Answer: C

o View Text Solution

33. What happens when lyophilic sol is added to a lyophobic sol?

A.A film of lyophilic sol is formed over lyophobic sol and

lyophobic sol is stabilized.

B. Lyophobic sol gets coagulated.

C. Lyophilic sol gets coagulated.

D. Lyophilic sol gets protected by the lyophobic sol.

Answer: A


https://dl.doubtnut.com/l/_orgfe8trstpE
https://dl.doubtnut.com/l/_jCLZMp0eiM6B

o Watch Video Solution

34. Identify the statement which is incorrect wrt. surface
phenomenon.

A.A sol, prepared by adding excess AgINOs; solution in Ki
solution when subjected to electro-phoresis will show
coagulation near

B. The conductivity of a soap solution decreases steeply at CMC.

C.Tyndall effect will be more prominent in gold solution as
compared to rubber solution.

D.Extent of physisorption increases with increase in

temperature initially and then decreses with temperature.

Answer: D

| o Wiak .\t daa Cc L .ktamm



https://dl.doubtnut.com/l/_jCLZMp0eiM6B
https://dl.doubtnut.com/l/_xfq2ltf2uOfb

A ____vyvadilll VIUCU JUVIULIVII )

35.If Fepg _ (3) sol is subjected to electrophoresis then which of
the following statements regarding coagulation will be correct?

A. No coagulation will occur at any electrode

B. coagulation will occur at cathode

C. Coagulation will occur at anode

D. Coagulation will occur at both the electrodes

Answer: B

o Watch Video Solution

36. on addition of 1 ml solution of 10 % NaCl to 10 ml gold sol in
the presence of 0.25g of strach, the coagulation is just prevented.

Strach has the following gold number


https://dl.doubtnut.com/l/_xfq2ltf2uOfb
https://dl.doubtnut.com/l/_ayu21ipqW4YZ
https://dl.doubtnut.com/l/_Jm4skFaF5azF

A.0.025

B.0.25

C.2.5

D. 25

Answer: D

o Watch Video Solution

37. which of the following will have the highest coagulating power
for As, S5 colloid?
33—
A. PO,
2_
B.SO;
C.Na™

D. AP


https://dl.doubtnut.com/l/_Jm4skFaF5azF
https://dl.doubtnut.com/l/_902PBMBW4xJs

Answer: D

o Watch Video Solution

38. According to the Tyndall effect, a beam of light becomes visible

when passed through all of the following except a(n) :

A. aerosol

B. colloid

C.emulsion

D. solution

Answer: D

o Watch Video Solution

39. Which of the following ions has maximum flocculation value?


https://dl.doubtnut.com/l/_902PBMBW4xJs
https://dl.doubtnut.com/l/_XTk6ZxT8vWAo
https://dl.doubtnut.com/l/_txwLN6zJo391

A. [Fe(CN)ﬁrl_
B.Cl~
C. 802

D. PO~

Answer: B

o Watch Video Solution

40. Which of the following is a mismatch?

A. Lyophilic colloids-reversible sols

B. Associated colloids-micelles

C. Tyndall effect-scattering of light by colloidal particle

D. Electrophoresis-movement of dispersion medium under the

influence of electric field


https://dl.doubtnut.com/l/_txwLN6zJo391
https://dl.doubtnut.com/l/_w3u4y2vlD2J8

Answer: D

o Watch Video Solution

41. Which of the following ions will be most effective in coagulating
the As9S3 sol?

A Fe?t

B. Ba’™

C.Cl™

D. PO}~

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_w3u4y2vlD2J8
https://dl.doubtnut.com/l/_TjpoPmGmjpGf

42, (i) At 298 K the volume of NHj3 adsorbed by 1 g of charcoal is
higher than that of H, under similar conditions.

(ii) The movement of colloidal particles towards the oppositely
charged electrodes on passing current is known as Brownian

movement.

If T for true and F for false then correct option is :
ATT
B.T,F
CFKT

D.F,F

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SFqAhh9O7wHF

43. Which of the following will show Tyndall effect?

A. Aqueous solution of soap below critical micelle concentration

B. Aqueous solution of soap above critical micelle concentration

C. Aqueous solution of sodium chloride

D. Aqueous solution of sugar

Answer: B

o Watch Video Solution

44, Which of the following statements regarding sols is not

correct?

A. Brownian movement stablises sols.


https://dl.doubtnut.com/l/_not5fdjNB7QE
https://dl.doubtnut.com/l/_OTHDEVXxMzIA

B.In a reaction, catalyst may change qualitatively as well as

physically.

C.An emulsion can be broken both by heating as well as

freezing.

D. On prolonged dialysis, colloids become stable.

Answer: D

o Watch Video Solution

F Emulsion Micelle And Gel

1. Small liquid droplets in another liquid is called

A. suspension

B. emulsion


https://dl.doubtnut.com/l/_OTHDEVXxMzIA
https://dl.doubtnut.com/l/_5zIEidbFpraq

C. gel

D. true solution

Answer: B

o Watch Video Solution

2. At CMC, the surfactant molecules :

A. decomposes

B. become completely soluble

C. associate

D. dissociate

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5zIEidbFpraq
https://dl.doubtnut.com/l/_GxG9dhzh68Zo

3. Some types of gels like gelatin loose water slowly . The process is
known as :

A. synersis

B. thixotropy

C. peptisation

D. imbibition

Answer: A

° Watch Video Solution

4. Among the following, which surfactant will form micelles in
aqueous solution at the lowest molar concentration at ambient

conditions?

A. CH3(CH2)15N+ (CH3)3B’I"_


https://dl.doubtnut.com/l/_nwrAEYzW9ht4
https://dl.doubtnut.com/l/_lGJhq19sn40I

B. CH;(CH,),,080; Na*
C. CH3(CH2)6COO_ Na+

D. CH3(CH2)11N+ (CHg)B?"_

Answer: A

° Watch Video Solution

5. Compared to common colloidal sols milcells have:

A. higher colligative properties

B. lower colligative properties

C. same colligative properties

D. None of these

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_lGJhq19sn40I
https://dl.doubtnut.com/l/_4SctEbLVqitL

6. Milk is an example of :

A. true solution

B. gel

C. suspension

D. emulsion

Answer: D

o Watch Video Solution

7. Which is the correct statement in case of milk?

A. Milk is an emulsion of fat in water

B. Milk is an emulsion of protein in water


https://dl.doubtnut.com/l/_4SctEbLVqitL
https://dl.doubtnut.com/l/_aePyhGT7JsXy
https://dl.doubtnut.com/l/_9yZbTKdA920K

C. Milk is stabilized by protein

D. Milk is stablilized by fat

Answer: A

° Watch Video Solution

8. Which of the following statement regarding micelle is incorrect?

A. It is formed at a certain minimum concentration known as

CMC.

B. It contains a charged terminal, either positive or negative.

C. On dilution, a micelle turns into normal solution.

D. It is formed below Kraft temperature.

Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_9yZbTKdA920K
https://dl.doubtnut.com/l/_m79fzNl2PYXu

Reasoning Type

1. Assertion: All colloidal dispersions give very low ormotic pressure

and show very small freezing point depression or boiling point

elevation.

Reason: Tyndall effect is due to scattering of light from the surface

of colloidal particles.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.


https://dl.doubtnut.com/l/_m79fzNl2PYXu
https://dl.doubtnut.com/l/_aLo7x82NT4d0

Answer: B

o Watch Video Solution

2. Assertion: The Brownian movement is due to the bombardment
on colloidal particle by the molecules of dispersion midium which
are in the constant motion like molecules in a gas.
Reason: Brownian movement provides a visible proof of the random
kinetic motion of molecules in a liquid.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a
correct explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.


https://dl.doubtnut.com/l/_aLo7x82NT4d0
https://dl.doubtnut.com/l/_FxhBGjazv2nH

Answer: B

° Watch Video Solution

3. Statement- 1: In the coagulation of negatively charged arsenic

sulphide sol, the coagulating power decreases in the order

APY > Ba’t > Na™.

Statement- 2: Generally greater the valency of coagulating ion, the

greater is its power of coagulation.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.


https://dl.doubtnut.com/l/_FxhBGjazv2nH
https://dl.doubtnut.com/l/_g8R1U5kQwc5C

Answer: A

° Watch Video Solution

4. Assertion: Gold number is the measure of protective powers of

differents colloids.

Reason: The smaller the gold number of lyophilic colloid, the

smaller is its protective power.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.


https://dl.doubtnut.com/l/_g8R1U5kQwc5C
https://dl.doubtnut.com/l/_ncr7pBwgfEvO

Answer: C

° Watch Video Solution

5. Assertion: The property of adsorption is shown by solids to a
much larger extent than liquids.
Reason: Solids, particularly when finely divided, have a large surface
area.
A. Statement-1 is True, Statement-2 is True, Statement-2 is a
correct explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.


https://dl.doubtnut.com/l/_ncr7pBwgfEvO
https://dl.doubtnut.com/l/_OsUddAh1qhdX

Answer: B

o Watch Video Solution

6. Assertion: Aquenous gold colloidal solution is red in colour.

Reason: The colour ariesedue to scattering of light by colloidal gold

particles.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.

Answer: A

s ]


https://dl.doubtnut.com/l/_OsUddAh1qhdX
https://dl.doubtnut.com/l/_6RDQLdGLXXHF

[ & Watch Video Solution ]

7. Assertion: Isoelectric point is pH at which colloidal can move
towards either of electrode.
Reason: At isoelectric point coolidal particles becomes electrically
netural .
A. Statement-1 is True, Statement-2 is True, Statement-2 is a
correct explanation for Statement-1.
B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a
correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1is False, Statement-2 is True.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6RDQLdGLXXHF
https://dl.doubtnut.com/l/_7EyUOGxRxhXz

8. Assertion: A gas with higher critical temperature gets adsorbed

to more extent than a gas with lower critical temperature.

Reason: The easily liquefiable gases get adsorbed to more extent

which have higher critical temperature.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rdNRuhegqhqo

9. Assertion: When AgNOQs; is treated with excess of K, colloidal

particles gets attracted towards anode.

Reason: Colloidal particles adsorb common ions and thus becomes

charged.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FmMrJM7jE3Dk

10. Assertion: Colloidal solution exhibit Tyndall effect while true

solution particles.

Reason: Because the size of the colloidal particles is large enough

to scatter light as compared to size of the true solution particles.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nBH0Uftl03Ck

11. Assertion: Physisorption of molecules occures on surface only.

Reason: in this process, the bonds of the adsorbed molecules are

broken.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_asPSfV8n1aV8

12. Assertion: Medicines in the colloidal state are more effective.

Reason: In the colloidal state, the medicine are easily assimilated by

the body.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_pL86Duwp0Yyc

13. Assertion: Tetraethyl lead minimizes the knocking effect when

mixed with petrol.

Reason: Because tetraethyl lead acts as a -Ve catalyst.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Cri7SbBAtIQo

14. Assertion: In physisorption, adsorption increase with increases

in temperature.

Reason: Physisorpation is of exothermic nature.

A. Statement-1 is True, Statement-2 is True, Statement-2 is a

correct explanation for Statement-1.

B. Statement-1 is True, Statement-2 is True, Statement-2 is NOT a

correct explanation for Statement-1.

C. Statement-1 isTrue, Statement-2 is False.

D. Statement-1 is False, Statement-2 is True.

Answer: D

° Watch Video Solution

Multiple Objective Type



https://dl.doubtnut.com/l/_v0Xrn5zYWtPS
https://dl.doubtnut.com/l/_0C9oG3wHReYM

1. Which of the following statement(s) is/are correct?

A.The elevation in boiling point of an alcoholic solution of
sulphur is more than that of its sol in water if mass of sulphur
present per unit volume of mixture is same in both cases.

B.CMC value of CH3(CHy)yNH,Cl will be less than that of
CH;3(CH,),COONa.

C.The graph of log (x/m) versus log P as per Freundlich theory
will be a straight line having constant slope throughout.

D.CO(g) can displace adsorbed O,(g) from surface of an

adsorbent showing physisorption.

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_0C9oG3wHReYM
https://dl.doubtnut.com/l/_sKruXQX7d8LK

2. From the following options select the options which are correct

with respect the adsorption.

A.The "y-intercept" of log x/m versus log P as per Freundlich

theroy is greater for O, as compared to H,; at same

temperature.

B. Adsorption of gas on a solid is an enthalpy driven process.

C.Decrease in pressure cause desorption in case of

chemisorptions.

D. Adsorption isobars keeps on decreasing with increase in

temperature if there is only Vander Waal's interactions

between adsorbent and adsorbate.

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_sKruXQX7d8LK
https://dl.doubtnut.com/l/_z5odCv4o9wL5

3. Which of the following options is/are correct regarding catalytic

action?

A. Conversion of proteins into amino acids by hydrolysis in

intestines is catalysed by enzyme pancreatic trypsin.

B.In case of fever the activity of biochemical catalyst gets

adversely affected.

C. Catalyst cannot change the final product obtained in the

reaction.

D. Zeolites are shapes selective catalysts.

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_z5odCv4o9wL5

4. |dentify the statement(s) which is not correct with respect to

surface penomenon.

A. If on adding electrolyte in an emulsion conductivity decreases

then it will be an oil in water emulsion.

B. Tyndall effect is observed when refractive indices of the

dispersed phase and the dispersion medium differ greatly in

magnitude.

C. Macromolecular colloids are generally lyophobic in nature.

D. Gases which can react with the adsorbents generally show

chemisorption.

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_huCnVQ6pZGrO
https://dl.doubtnut.com/l/_17MNn0JUqZzD

5. Which of the following options is/are true wrt. surface
phenomenon?
A. At extremely low pressures, graph of log % versus log P for
adsorption of gases over a solid will have unit slope.
B. On mixing 100 ml of 0.1 M NaCl solution to 200 ml of 0.02 M
Pb(NOs), solution, a negatively charged sol will be obtained.
C. On adding invertase to an aqueous solution of cane sugar the
rate of inversion of specific optical rotation of the solution
increases.

D. Metal sulphide sols are reversible sols.

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_17MNn0JUqZzD

6. Which of the option(s) regarding true/false nature of the
statement is/are correct?

S-1: Out of all colligative properties, osmotic pressure is easisest to
determine experimentally.

S-2 : Chemisorption is a multilayer process.

S-3 : Solubility of gases in water increases with increase in
temperature.

S-4 : Addition of NaCl can cause coagulation in both +vely charged
and -vely charged sols.

S-5: Enzyme catalysed reactions are elementary reactions.

S-6 : For the same atomic radius, the density of an element will be

greater for BCC lattice than FCC lattice.

A. There are more false statements than true statements

B. S-3 and S-5 are false statements

C.S-1and S-4 are the only true statements

D. Only S-1is a true statement


https://dl.doubtnut.com/l/_YsOfddGWPYub

Answer: A::B::C

o Watch Video Solution

7. Which of the following options are correctly matched?

A. Smoke : Aerosol : Soap lather : Foam

B. Mist : Aerosol , Milk : Emulsion

C. Gem stones : Solid sol, Pumice stone : Solid foam

D. Butter : Gel, Cell fluids : Sol

Answer: A::B::C::D

° Watch Video Solution

8. Which of the following options is / are correct with respect to

catalysis / catalyst?


https://dl.doubtnut.com/l/_YsOfddGWPYub
https://dl.doubtnut.com/l/_IuR4FaonUTgJ
https://dl.doubtnut.com/l/_ppJdc6mms1cq

A. Zeolites acts as good shape-selective catalyst because of their
honeycomb-like structure.

B. The modern adsorption theory for heterogeneous catalysts
can explain action of catalytic promoters and catalytic
poisons.

C. Catalytic action is highly selective.

D. Mixture of enzyme catalyst in water will show Tyndall effect.

Answer: A::C

° Watch Video Solution

9. Identify the option(s) which is/are incorrect with respect to

adsorption.


https://dl.doubtnut.com/l/_ppJdc6mms1cq
https://dl.doubtnut.com/l/_gOCwmlOeo9Mk

A. During adsorption there will be an increase in residual forces

on the molecules.

B. The extent of adsorption per unit mass of adsorbent will

remain same even on changing surface are of same mass of

adsorbent.

C.When equilibrium is attained in adsorption then due to

adsorption of gas at equilibrium, entropy of system and

entropy of surrounding both increase by the same amount.

D. Adsorption of gas on a solid surface is an entropy driven

process.

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_gOCwmlOeo9Mk

10. Identify the statements which are not correct.

A. Soap sol of sodium palmitate will be coagulated near cathode

on electrophoresis.

B. If on adding electrolyte in an emulsion conductivity decreases

it should be an oil in water emulsion.

C. Macromolecular colloids are generally lyophilic.

D. A promotor when taken without catalyst cannot change rate

of reaction.

Answer: A::B

° Watch Video Solution

11. Which of the following statements is not correct?


https://dl.doubtnut.com/l/_VrrinV6plnZT
https://dl.doubtnut.com/l/_jItbcGeohtdw

A. Muddy water can be coagulated more effectively by alum as

compared to NaCl.

B. Surface tension of lyophilic colloids is less than that of the

dispersion medium.

C.When excess AgNQOs3 solution is added to Kl sol and the

resultant colloidal state is subjected to electrophoresis,

coagulation will be observed near anode.

D. Ferrimagnetic substances on heating show paramagnetic

behaviour.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jItbcGeohtdw

12. Which of the following options is/are correct regarding catalytic

action?

A. Conversion of proteins into amino acids by hydrolysis in

intestines is catalysed by enzyme pancreatic trypsin.

B.In case of fever the activity of biochemical catalyst gets

adversely affected.

C. Catalyst cannot change the final product obtained in the

reaction.

D. Zeolites are shapes selective catalysts.

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_6gfoph8x5xo1

13. Identify the statement(s) which is not correct with respect to

surface penomenon.

A. If on adding electrolyte in an emulsion conductivity decreases

then it will be an oil in water emulsion.

B. Tyndall effect is observed when refractive indices of the

dispersed phase and the dispersion medium differ greatly in

magnitude.

C. Macromolecular colloids are generally lyophobic in nature.

D. Gases which can react with the adsorbents generally show

chemisorption.

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_mUc33uAKGSKC
https://dl.doubtnut.com/l/_Z3SVGIogBV73

14. Sodium palmitate is a major constituent in soap. When an
aqueous solution of sodium palmitate having 1 kg of solvent is

analysed for its boiling point, following data is obtained.

Moles |Boiling Point \
0 100°C |
0.02 100.0372° C |
0.04 100.0744° C |
0.05 100.093°C |
0.06 e |
0.08 ionioo o, |

Identify the option(s) which is/are correct.

A. Aqueous mixture of sodium palmitate having concentration
equal to 0.07 M will be heterogeneous.

B.The CMC value of sodium palmitate should be less than

0.06M.

C. Osmotic pressure at 0.08 M at 300 K will be 1.9704 atm.


https://dl.doubtnut.com/l/_Z3SVGIogBV73

D. At 0.4 M concentration, the solution is homogeneous.

Answer: A::B

° View Text Solution

15. Which of the following reactions can result in formation of a
colloidal solution?

A.Reduction of SO, (g) with H,S to give sulphur and water.

B. Reduction of AuCl3 with HCHO in presence of water.

C. Hydrolysis of F'eCls in presence of NaOH.

D. Hydrolysis of ester in presence of acid.

Answer: A::B::C

° View Text Solution



https://dl.doubtnut.com/l/_Z3SVGIogBV73
https://dl.doubtnut.com/l/_ei6dm414JZ7N
https://dl.doubtnut.com/l/_0H8jx4l3rwSB

16. Which of the following methods to prepare sol, the colloidal

particles will be negatively charged?

100ml 2 x 107 9M — AgNO5 + 100ml of 4 x 107°M — KI
B. Addition of little KOH in freshly prepared precipitate of
Al(OH),.
C. Addition of little HCl in freshly prepared precipitate of
Al(OH)s,.

D. Gold sol by Bredig-Arc method.

Answer: A::B::D

° Watch Video Solution

17. Which of the following is (are) lyophobic colloids?


https://dl.doubtnut.com/l/_0H8jx4l3rwSB
https://dl.doubtnut.com/l/_5EhgXhAF7Yx5

A. Gold sol
B. AsyS3s0l
C. Starch sol

D. Fe(OH), sol

Answer: A::B::D

° Watch Video Solution

18. Which of the following are correctly matched?

A. Butter-gel

B. Milk-emulsion

C. Fog-aerosol

D. Dust-solid sol

Answer: A::B::C


https://dl.doubtnut.com/l/_5EhgXhAF7Yx5
https://dl.doubtnut.com/l/_simb8P40EwjT

° Watch Video Solution

19. Which is not correct for physical adsorption ?

A. It is usually monolayer

B. It is reversible in nature

C.It involves van der Waals' interactions between adsorption

and adsorbate

D. It involves smaller enthalpy of adsorption as compared to

chemisorption

Answer: B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_simb8P40EwjT
https://dl.doubtnut.com/l/_6oOosVou1TmN

20. Which of the following statements regarding adsorption is/are

correct?

A. Extent of adsorption of gases on charcoal increases with

increase in pressure of the gas.

B. Extent of adsorption is independent of temperature.

C. Extent of chemisorption by a given mass of adsorbent is

limited.

D. Extent of adsorption is dependent on the nature of

adsorbent.

Answer: A::C::D

o Watch Video Solution

21. Which of the following is not a characteristic of chemisorption?


https://dl.doubtnut.com/l/_d6itXjszAn2S
https://dl.doubtnut.com/l/_Nv19sQN4cR5q

A. It is irreversible

B. It is specific

C. It is multilayer phenomenon

D. Heat of adsorption is about - 400 k]

Answer: A::B::D

o Watch Video Solution

22. The diameter of colloidal particle is of the order

A 10 3m

B.10 %m

C.10 " m

D.10" "m

Answer: B::D


https://dl.doubtnut.com/l/_Nv19sQN4cR5q
https://dl.doubtnut.com/l/_AJUQzNqBd5oY

o Watch Video Solution

23. Which of the following colloidal solutions contain negatively

charged colloidal particles?

A. Fe(OH), sol
B. A3283 sol
C. Blood

D. Gold sol

Answer: B::C::D

° Watch Video Solution

24. Which of the following are examples of aerosols?

A. Whipped cream


https://dl.doubtnut.com/l/_AJUQzNqBd5oY
https://dl.doubtnut.com/l/_mnoHoDSxiJji
https://dl.doubtnut.com/l/_Kkq9jfAarzwN

B. Cloud

C.Fog

D. Soap lather

Answer: B::C

° Watch Video Solution

25. Which of the following statements are true for physisoption?

A. Extent of adsortption increases with increase in pressure.

B. It needs activation energy.

C. It can be reversed easily.

D. It occurs at high temperature.

Answer: A::C

| o Watch Video Solution


https://dl.doubtnut.com/l/_Kkq9jfAarzwN
https://dl.doubtnut.com/l/_IZTHKoXbgTZA

26. Which of the following are hydrophobic sols?

A. Protein sol
B. Gold sol
C. Gum sol

D. Fe(OH), sol

Answer: B::D

o Watch Video Solution

27. If Cl, gas is enclosed in presence of powdered charcoal in a

closed vessel, the pressure of the gas decreases. It is because :

A. the gas molecules are absorbed at the surface


https://dl.doubtnut.com/l/_IZTHKoXbgTZA
https://dl.doubtnut.com/l/_deDGXBG2DnCf
https://dl.doubtnut.com/l/_lgJClrTN9Eh2

B. the gas molecules concentrate at the surface of the charcoal

C. the gas molecules are adsorbed at the surface

D. the gas molecules are desorbed by the surface

Answer: B::C

° Watch Video Solution

28. When negatively charged colloids like AsyS3 sol is added to
positively charged Fe(OH), sol in suitable amounts :

A. both the sols are precipitated simultaneously.

B. the process is called mutual coagulation.

C. they become positively charged colloids.

D. They become negatively charged colloids.

Answer: A::B


https://dl.doubtnut.com/l/_lgJClrTN9Eh2
https://dl.doubtnut.com/l/_1o9WeElyptD0

° Watch Video Solution

29. Which of the following are incorrect statements?

A. Hardy Schulze rule is related to coagulation.

B. Brownian movement and Tyndall effect are the characteristics

of colloids.

C.In gel, the liquid is dispersed in liquid.

D. Higher the gold number, more is the protective power of

lyophilic sols.

Answer: C::D

o View Text Solution

30. Which of the following are multimolecular colloids?


https://dl.doubtnut.com/l/_1o9WeElyptD0
https://dl.doubtnut.com/l/_XefcsJKsDm7n
https://dl.doubtnut.com/l/_sSKlIaLkNiTy

A. Sulphur sol

B. Egg albumin in water

C. Gold sol

D. Soap solution

Answer: A::C

o Watch Video Solution

31. The origin of charge on colloidal solution is :

A. Self dissociation (in soaps and detergents)
B. Electron capture during Bredig's arc method
C. Selective adsorption of ion on their surface

D. It is due to addition of protective colloids

Answer: A::B::C


https://dl.doubtnut.com/l/_sSKlIaLkNiTy
https://dl.doubtnut.com/l/_LBhKFyva6yyi

° View Text Solution

32. Which of the following are based on Tyndall effect?

A. Tail of comets
B. Deltas
C. Blue colour of sky

D. Coagulation

Answer: A::C

o Watch Video Solution

33. The correct statement(s) pertaining to the adsorption of a gas

on a solid surface is (are) :

A. Adsorption is always exothermic.



https://dl.doubtnut.com/l/_LBhKFyva6yyi
https://dl.doubtnut.com/l/_3whwEpGnTMAX
https://dl.doubtnut.com/l/_zx3aOkLHwdMj

B. Physisorption may transform into chemisorption at high

temperature.

C. Physisorption increases with increasing temperature but

chemisorption decreases with increasing temperature.

D. Chemisorption is more exothermic than physisorption,

however it is very slow due to higher energy of activation.

Answer: A::B::D

o View Text Solution

34.The size of colloidal particles is :

A.1 — 10A

B. 20 — 50A

C.10 — 10000A


https://dl.doubtnut.com/l/_zx3aOkLHwdMj
https://dl.doubtnut.com/l/_sFOPEjXgBhRh

D.1 — 200A

Answer: B

° Watch Video Solution

35. Which of the following statements is/are correct?

A.The efficiency of a heterogeneous catalyst depends upon its

surface area.

B. Catalyst operates by providing alternate path for the reaction

that involves a lower activation energy.

C. Catalyst lowers the energy of activation of the forward

direction without affecting the energy of activation of the

backward direction.


https://dl.doubtnut.com/l/_sFOPEjXgBhRh
https://dl.doubtnut.com/l/_Ax6Oyw9TRI6f

D. Catalyst does not affect the overall enthalpy change of the

reaction.

Answer: A::B::D

o Watch Video Solution

36. Choose the correct statement(s).

A. When the reactants and the catalyst are in the same phase

(i.e, liquid or gas), the process is said to homogeneous

catalysis.

B. Oxidation of NaySO; in presence of NasAsQO;3 in excess of

air is an example of induced catalysis.

C. Ester hydrolysis (in acidic medium) is slow in the beginning

and becomes faster after some time.


https://dl.doubtnut.com/l/_Ax6Oyw9TRI6f
https://dl.doubtnut.com/l/_62LFp2z5Dqa5

D.(Metal ions) when weakly bonded to enzyme molecules

decrease their catalytic activity.

Answer: A::B::C

° Watch Video Solution

Comprehension Type

1. Specific surface area of a solid adsorbent is the surface area of
the unit mass of the adsorbent. For any adsorbent, the specific
surface area may be increased by taking the adsorbent in powdered
form or by increasing the pores in the solid.

If unit mass of a solid, taken as cube of volume 8 em?

, iIs powdered
into identical 10'2 cubes, then the specific surface area of the solid

increased by :


https://dl.doubtnut.com/l/_62LFp2z5Dqa5
https://dl.doubtnut.com/l/_D3Zz8uaeFWCi

A. 10" times

B. 10% times

C.10* times

D. 108 times

Answer: C

o Watch Video Solution

2. Specific surface area of a solid adsorbent is the surface area of
the unit mass of the adsorbent. For any adsorbent, the specific
surface area may be increased by taking the adsorbent in powdered
form or by increasing the pores in the solid.

112¢m? hydrogen gas is adsorbed uniformly at the surface of 5 gm
palladium at 273° C and 2 atm. If the effective surface area of each
hydrogen molecule is 0.4nm?, then the specific surface area of

palladium is : [Take: Ny = 6:1:1023]


https://dl.doubtnut.com/l/_D3Zz8uaeFWCi
https://dl.doubtnut.com/l/_urA7jsXMBgnm

A. 1.2 x 10"em? / gm
B.2.4 x 10°cm? /gm
C.6.0 x 10°ecm? /gm

D.0.6 x 10%cm? / gm

Answer: B

o Watch Video Solution

3. Whenever a mixture of gases is allowed to come in contact with a
particular adsorbent under the same conditions, the more strong
adsorbate is adsorbed to greater extent irrespective of its amount
present, e.g., H,O is adsorbed to more extent on silica gel than N,
and O,. This shows that some adsorbates are preferentially
adsorbed. It is also observed that preferentially adsorbable
adsorbent can displace a weakly adsorbed substance from the

surface of an adsorbent. Preferential adsorption depends on


https://dl.doubtnut.com/l/_urA7jsXMBgnm
https://dl.doubtnut.com/l/_VZQ1utXrWR2r

strength of attraction, surface area, polar nature and other factors.
Which of the following isomer of CgH;, is adsorbed to maximum
extent?

A. Normal hexane

B. Neo-hexane

C.lso-hexane

D. 3-Methyl pentane

Answer: A

o Watch Video Solution

4. Whenever a mixture of gases is allowed to come in contact with a
particular adsorbent under the same conditions, the more strong
adsorbate is adsorbed to greater extent irrespective of its amount

present, e.g., H,O is adsorbed to more extent on silica gel than N,


https://dl.doubtnut.com/l/_VZQ1utXrWR2r
https://dl.doubtnut.com/l/_ML4vcJoQ0mda

and O,. This shows that some adsorbates are preferentially
adsorbed. It is also observed that preferentially adsorbable
adsorbent can displace a weakly adsorbed substance from the
surface of an adsorbent. Preferential adsorption depends on
strength of attraction, surface area, polar nature and other factors.
A. HCl
B. N,

C.CH,

D. H,

Answer: A

° Watch Video Solution

5. Whenever a mixture of gases is allowed to come in contact with a

particular adsorbent under the same conditions, the more strong


https://dl.doubtnut.com/l/_ML4vcJoQ0mda
https://dl.doubtnut.com/l/_PdKU1IwlCEH7

adsorbate is adsorbed to greater extent irrespective of its amount
present, e.g., H,O is adsorbed to more extent on silica gel than N,
and O,. This shows that some adsorbates are preferentially
adsorbed. It is also observed that preferentially adsorbable
adsorbent can displace a weakly adsorbed substance from the
surface of an adsorbent. Preferential adsorption depends on
strength of attraction, surface area, polar nature and other factors.

When temperature is increased in chemisorption then:

A. extent of adsorption increases

B. extent of adsorption decreases

C. no effect on adsorption

D. extent of adsorption first decreases, then increases

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PdKU1IwlCEH7
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6. When a solution of palmitic acid (Mol. Mass = 256) in benzene
containing 512 gm of acid/lit. is dropped on water surface, the
benzene evaporates and the acid forms a monolayer film. The area
covered by one molecule of palmitic acid is 1.54nm?. Assuming
each molecule of palmitic acid to be a sphere, answer the question
that follow. [Ny = 6 x 10%°]

What is the approx density of each molecule of palmitic acid?

A.0.3gm /ml
B. 0.4gm /ml
C.0.5gm /ml

D.1gm /ml

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ja2SkAe9j0MH

7. When a solution of palmitic acid (Mol. Mass = 256) in benzene
containing 512 gm of acid/lit. is dropped on water surface, the
benzene evaporates and the acid forms a monolayer film. The area
covered by one molecule of palmitic acid is 1.54nm?. Assuming
each molecule of palmitic acid to be a sphere, answer the question
that follow. [Ny = 6 x 10%°]

What volume of solution must be dropped on the water surface in

order to cover a surface area of 1848¢m??

A. 10~ 2lit.
B.10 °ml
C.10 " %ml

D. 10~ *l4t.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jvjoFOhGC84h

8. Many lyophilic sols and few lyophobic sols when coagulated
under some special conditions changes into semi rigid mass,
enclosing whole amount of liquid within of liquid within itself, it is
called gel and the process is called gelation. Gelatin, agar-agar,
gum-Arabic can be converted into gels by cooling them under
moderate concentration conditions. Hydrophobic sols like silicic
acid. Al(OH), are prepared by double decomposition and
exchanged of solvent method.

Types of gel :

1. Syneresis/weeping of gel : The spontaneous liberation of liquid
from a gel is called syneresis or weeping of gels. It is reverse of
swelling.

e.g., geletin, agar-agar show syneresis at low concentration while
silicic shows it at high concentration.

2. Imbibition or swelling of gel : When gel is kept in a suitable liquid
(water) it absorb large volume of liquid. The phenomenon is called

imbibition or sweeling of gel.


https://dl.doubtnut.com/l/_5xyOFs3cT0bF

3. Thixotropic : Some gels when shaken to form a sol, on keeping
changes into gel are termed as thixotropic gel and phenomenon is
called thixotropy.

e.g., gelatin and silica liquify on shaking changing into
corresponding sol and the sol on keeping changes back into gel.

Which of the following is used to adsorb water?

A.silica gel

B. Calcium acetate

C. Hair gel

D. Chesse

Answer: A

° Watch Video Solution
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9. Many lyophilic sols and few lyophobic sols when coagulated
under some special conditions changes into semi rigid mass,
enclosing whole amount of liquid within of liquid within itself, it is
called gel and the process is called gelation. Gelatin, agar-agar,
gum-Arabic can be converted into gels by cooling them under
moderate concentration conditions. Hydrophobic sols like silicic
acid. Al(OH), are prepared by double decomposition and
exchanged of solvent method.

Types of gel :

1. Syneresis/weeping of gel : The spontaneous liberation of liquid
from a gel is called syneresis or weeping of gels. It is reverse of
swelling.

e.g., geletin, agar-agar show syneresis at low concentration while
silicic shows it at high concentration.

2. Imbibition or swelling of gel : When gel is kept in a suitable liquid
(water) it absorb large volume of liquid. The phenomenon is called

imbibition or sweeling of gel.


https://dl.doubtnut.com/l/_hNCfrd57gQYH

3. Thixotropic : Some gels when shaken to form a sol, on keeping
changes into gel are termed as thixotropic gel and phenomenon is
called thixotropy.

e.g., gelatin and silica liquify on shaking changing into
corresponding sol and the sol on keeping changes back into gel.
The process of imbibing water when elastic gel are placed in water

is called :

A. imbibation

B. synerisis

C. coagulation

D. thixotropy

Answer: A

° Watch Video Solution
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10. Many lyophilic sols and few lyophobic sols when coagulated
under some special conditions changes into semi rigid mass,
enclosing whole amount of liquid within of liquid within itself, it is
called gel and the process is called gelation. Gelatin, agar-agar,
gum-Arabic can be converted into gels by cooling them under
moderate concentration conditions. Hydrophobic sols like silicic
acid. Al(OH), are prepared by double decomposition and
exchanged of solvent method.

Types of gel :

1. Syneresis/weeping of gel : The spontaneous liberation of liquid
from a gel is called syneresis or weeping of gels. It is reverse of
swelling.

e.g., geletin, agar-agar show syneresis at low concentration while
silicic shows it at high concentration.

2. Imbibition or swelling of gel : When gel is kept in a suitable liquid
(water) it absorb large volume of liquid. The phenomenon is called

imbibition or sweeling of gel.


https://dl.doubtnut.com/l/_o6Hxp0flSShy

3. Thixotropic : Some gels when shaken to form a sol, on keeping
changes into gel are termed as thixotropic gel and phenomenon is
called thixotropy.

e.g., gelatin and silica liquify on shaking changing into
corresponding sol and the sol on keeping changes back into gel.
Some types of gels like gelatin and silica liquify on shaking thereby
changing into sols. The sols on standing change back into gels. This

process is know as :

A. syneresis

B. thixotropy

C. double decomposition

D. peptization

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_o6Hxp0flSShy
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11. The clouds consist of charged particles of water dispersed in air.
Some of them are +vely charged, other are -vely charged. When
+vely charged clouds come closer they cause lightening and
thundering whereas when +ve and -ve charged colloid come closer
they cause heavy rain by aggregation of minute particles. It is
possible to cause artificial rain by throwing electrified sand or silver
iodic from an aeroplane and thus coagulating the mist hanging in
air.

Smoke screen is a cloud of smoke used to hide military, naval police
etc. It consists of fine particles of T%0s.

When excess of AgINOs is treated with Kl solution, Agl forms :

A. +ve charged sol

B. —ve charged sol

C. neutral sol

D. true sol


https://dl.doubtnut.com/l/_BvBB1bqLS9kf

Answer: A

o Watch Video Solution

12. The clouds consist of charged particles of water dispersed in air.
Some of them are +vely charged, other are -vely charged. When
+vely charged clouds come closer they cause lightening and
thundering whereas when +ve and -ve charged colloid come closer
they cause heavy rain by aggregation of minute particles. It is
possible to cause artificial rain by throwing electrified sand or silver
iodic from an aeroplane and thus coagulating the mist hanging in
air.

Smoke screen is a cloud of smoke used to hide military, naval police
etc. It consists of fine particles of T 0.

Agl helps in artificial rain because :

A. it helps in ionisation of water


https://dl.doubtnut.com/l/_BvBB1bqLS9kf
https://dl.doubtnut.com/l/_URxqgJDYwyw8

B. it help in dispersion process

C.it help in coagulation

D. all of the above

Answer: C

o Watch Video Solution

13. The clouds consist of charged particles of water dispersed in air.
Some of them are +vely charged, other are -vely charged. When
+vely charged clouds come closer they cause lightening and
thundering whereas when +ve and -ve charged colloid come closer
they cause heavy rain by aggregation of minute particles. It is
possible to cause artificial rain by throwing electrified sand or silver
iodic from an aeroplane and thus coagulating the mist hanging in
air.

Smoke screen is a cloud of smoke used to hide military, naval police


https://dl.doubtnut.com/l/_URxqgJDYwyw8
https://dl.doubtnut.com/l/_Xu3QEzWOcL5B

etc. It consists of fine particles of T 0s.

Smoke screens consist of :

A. fine particles of T'2O, dispersed in air by aeroplanes

B. fine particles of Agl dispersed in air by aeroplanes

C. fine particles of Al,O; dispersed in air by aeroplanes.

D. none of the above

Answer: A

o Watch Video Solution

14. The colloidal particles are electrically charged as a indicated by
their migration towards cathode or anode under the applied
electric field. In a particular colloidal system, all particles carry
either positive charge or negative charge.

The electric charge on colloidal particles orginate in several ways.


https://dl.doubtnut.com/l/_Xu3QEzWOcL5B
https://dl.doubtnut.com/l/_oj0HazlmGsLL

According to preferential adsorption theory, the freshly obtained
precipitate particles adsorb ions from the dispersion medium,
which are common to their lattice and acquire the charge of
adsorbed ions. For example, For example, freshly obtained
Fe(OH), precipitated is dispersed, by a little F'eCls, into colloidal
solution owing to the adsorption of Fe®™ ions in preference. Thus
sol particles will be positively charged.

In some cases the colloidal particles are aggregates of cations or
anions having ampiphilic character. When the ions posses
hydrophobic part (hydrocarbon end) as well as hydrophilic part
(polar end group), they undergo association in aqueous solution to
form particles having colloidal size. The formation of such particles,
called micelles plays a very important role in the solubilization of
water insoluble substances, (hydrocarbon, oils, fats, grease etc.). In
micelles, the polar end groups are directed towards water and the
hydrocarbon ends into the centre. The charge on sol particles of
proteins depends on the pH. At low pH, the basic group of protein

molecule is ionized (protonated) and at higher pH (alkaline


https://dl.doubtnut.com/l/_oj0HazlmGsLL

medium), the acidic group is ionized. At isoelectric pH,
characteristic to the protein, both basix and acidic groups are
equally ionized. The stability of colloidal solution is attributed
largely to the electric charge of the dispersed particles. This charge
causes them to be coagulated or precipitated. On addition of small
amount of electrolytes, the ions carrying oppiste charge are
adsorbed by sol particles resulting in the neutralization of their
charge. When the sol particles either with no charge or reduced
charge, come closer due to Brownian movement, they coalesce to
form bigger particles resulting in their separation from the
dispersion medium. This is what is called coagulating or
precipitation of the colloidal solution. The coagulating power of the
effective ion, which depend on its charge, is expressed in terms of
its coagulating value, defined as its minimum concentration (m
mol/L) needed to precipitate a given sol.

A gelatin sol at pH less than the isoelectric value is subjected to an

electric field. The sol particles migrate toward :


https://dl.doubtnut.com/l/_oj0HazlmGsLL

A. anode

B. cathode

C. both anode and cathode

D. neither anode nor cathode

Answer: B

o Watch Video Solution

15. The colloidal particles are electrically charged as a indicated by
their migration towards cathode or anode under the applied
electric field. In a particular colloidal system, all particles carry
either positive charge or negative charge.

The electric charge on colloidal particles orginate in several ways.
According to preferential adsorption theory, the freshly obtained
precipitate particles adsorb ions from the dispersion medium,

which are common to their lattice and acquire the charge of


https://dl.doubtnut.com/l/_oj0HazlmGsLL
https://dl.doubtnut.com/l/_L3FDo2ycysne

adsorbed ions. For example, For example, freshly obtained
Fe(OH), precipitated is dispersed, by a little FeCls, into colloidal
solution owing to the adsorption of Fe3™ ions in preference. Thus
sol particles will be positively charged.

In some cases the colloidal particles are aggregates of cations or
anions having ampiphilic character. When the ions posses
hydrophobic part (hydrocarbon end) as well as hydrophilic part
(polar end group), they undergo association in aqueous solution to
form particles having colloidal size. The formation of such particles,
called micelles plays a very important role in the solubilization of
water insoluble substances, (hydrocarbon, oils, fats, grease etc.). In
micelles, the polar end groups are directed towards water and the
hydrocarbon ends into the centre. The charge on sol particles of
proteins depends on the pH. At low pH, the basic group of protein
molecule is ionized (protonated) and at higher pH (alkaline
medium), the acidic group is ionized. At isoelectric pH,
characteristic to the protein, both basix and acidic groups are

equally ionized. The stability of colloidal solution is attributed


https://dl.doubtnut.com/l/_L3FDo2ycysne

largely to the electric charge of the dispersed particles. This charge
causes them to be coagulated or precipitated. On addition of small
amount of electrolytes, the ions carrying oppiste charge are
adsorbed by sol particles resulting in the neutralization of their
charge. When the sol particles either with no charge or reduced
charge, come closer due to Brownian movement, they coalesce to
form bigger particles resulting in their separation from the
dispersion medium. This is what is called coagulating or
precipitation of the colloidal solution. The coagulating power of the
effective ion, which depend on its charge, is expressed in terms of
its coagulating value, defined as its minimum concentration (m
mol/L) needed to precipitate a given sol.

Which of the following ions would have the minimum coagulating
value for sol obtained on peptizing Sn(OH), by little NaOH

solution?

A.Cl™

B. SO;~


https://dl.doubtnut.com/l/_L3FDo2ycysne

CKT

D. Ba®*

Answer: D

o Watch Video Solution

16. The colloidal particles are electrically charged as a indicated by
their migration towards cathode or anode under the applied
electric field. In a particular colloidal system, all particles carry
either positive charge or negative charge.

The electric charge on colloidal particles orginate in several ways.
According to preferential adsorption theory, the freshly obtained
precipitate particles adsorb ions from the dispersion medium,
which are common to their lattice and acquire the charge of
adsorbed ions. For example, For example, freshly obtained

Fe(OH), precipitated is dispersed, by a little F'eCls, into colloidal


https://dl.doubtnut.com/l/_L3FDo2ycysne
https://dl.doubtnut.com/l/_YdubKZfXOdIl

solution owing to the adsorption of Fe*™ ions in preference. Thus
sol particles will be positively charged.

In some cases the colloidal particles are aggregates of cations or
anions having ampiphilic character. When the ions posses
hydrophobic part (hydrocarbon end) as well as hydrophilic part
(polar end group), they undergo association in aqueous solution to
form particles having colloidal size. The formation of such particles,
called micelles plays a very important role in the solubilization of
water insoluble substances, (hydrocarbon, oils, fats, grease etc.). In
micelles, the polar end groups are directed towards water and the
hydrocarbon ends into the centre. The charge on sol particles of
proteins depends on the pH. At low pH, the basic group of protein
molecule is ionized (protonated) and at higher pH (alkaline
medium), the acidic group is ionized. At isoelectric pH,
characteristic to the protein, both basix and acidic groups are
equally ionized. The stability of colloidal solution is attributed
largely to the electric charge of the dispersed particles. This charge

causes them to be coagulated or precipitated. On addition of small


https://dl.doubtnut.com/l/_YdubKZfXOdIl

amount of electrolytes, the ions carrying oppiste charge are
adsorbed by sol particles resulting in the neutralization of their
charge. When the sol particles either with no charge or reduced
charge, come closer due to Brownian movement, they coalesce to
form bigger particles resulting in their separation from the
dispersion medium. This is what is called coagulating or
precipitation of the colloidal solution. The coagulating power of the
effective ion, which depend on its charge, is expressed in terms of
its coagulating value, defined as its minimum concentration (m
mol/L) needed to precipitate a given sol.

How would you obtain a sol of Agl, the particles of which migrate

towards cathode under the electric field?

A. By adding little excess of Kl to AgINOj5 solution

B. By adding little excess of AgINOj5 to Kl solution

C. By mixing equal volumes of 0.010 M AgNQO3 and 0.010 M KI

D. None of the above


https://dl.doubtnut.com/l/_YdubKZfXOdIl

Answer: B

o Watch Video Solution

17. The colloidal particles are electrically charged as a indicated by
their migration towards cathode or anode under the applied
electric field. In a particular colloidal system, all particles carry
either positive charge or negative charge.

The electric charge on colloidal particles orginate in several ways.
According to preferential adsorption theory, the freshly obtained
precipitate particles adsorb ions from the dispersion medium,
which are common to their lattice and acquire the charge of
adsorbed ions. For example, For example, freshly obtained
Fe(OH), precipitated is dispersed, by a little FeCls, into colloidal
solution owing to the adsorption of Fe** ions in preference. Thus
sol particles will be positively charged.

In some cases the colloidal particles are aggregates of cations or


https://dl.doubtnut.com/l/_YdubKZfXOdIl
https://dl.doubtnut.com/l/_rO0NuZ7VFzK6

anions having ampiphilic character. When the ions posses
hydrophobic part (hydrocarbon end) as well as hydrophilic part
(polar end group), they undergo association in aqueous solution to
form particles having colloidal size. The formation of such particles,
called micelles plays a very important role in the solubilization of
water insoluble substances, (hydrocarbon, oils, fats, grease etc.). In
micelles, the polar end groups are directed towards water and the
hydrocarbon ends into the centre. The charge on sol particles of
proteins depends on the pH. At low pH, the basic group of protein
molecule is ionized (protonated) and at higher pH (alkaline
medium), the acidic group s ionized. At isoelectric pH,
characteristic to the protein, both basix and acidic groups are
equally ionized. The stability of colloidal solution is attributed
largely to the electric charge of the dispersed particles. This charge
causes them to be coagulated or precipitated. On addition of small
amount of electrolytes, the ions carrying oppiste charge are
adsorbed by sol particles resulting in the neutralization of their

charge. When the sol particles either with no charge or reduced


https://dl.doubtnut.com/l/_rO0NuZ7VFzK6

charge, come closer due to Brownian movement, they coalesce to
form bigger particles resulting in their separation from the
dispersion medium. This is what is called coagulating or
precipitation of the colloidal solution. The coagulating power of the
effective ion, which depend on its charge, is expressed in terms of
its coagulating value, defined as its minimum concentration (m
mol/L) needed to precipitate a given sol.

When 9.0 ml of arsenious sulphide sol and 10 ml of
1.0 x 10~ *MBaCl, are mixed, turbidity due to precipitation just
appears after 2 hours. The effective ion and its coagulating value

are respectively :

A.Cl”10m mol/L
B.Cl”20m mol/L
C.Ba’",10m mol /L

D. Ba®>*,20m mol /L

Answer: C


https://dl.doubtnut.com/l/_rO0NuZ7VFzK6

o Watch Video Solution

18. The colloidal particles are electrically charged as a indicated by
their migration towards cathode or anode under the applied
electric field. In a particular colloidal system, all particles carry
either positive charge or negative charge.

The electric charge on colloidal particles orginate in several ways.
According to preferential adsorption theory, the freshly obtained
precipitate particles adsorb ions from the dispersion medium,
which are common to their lattice and acquire the charge of
adsorbed ions. For example, For example, freshly obtained
Fe(OH), precipitated is dispersed, by a little FeCls, into colloidal
solution owing to the adsorption of Fe*" ions in preference. Thus
sol particles will be positively charged.

In some cases the colloidal particles are aggregates of cations or
anions having ampiphilic character. When the ions posses

hydrophobic part (hydrocarbon end) as well as hydrophilic part


https://dl.doubtnut.com/l/_rO0NuZ7VFzK6
https://dl.doubtnut.com/l/_ovpYnqkR4aoM

(polar end group), they undergo association in aqueous solution to
form particles having colloidal size. The formation of such particles,
called micelles plays a very important role in the solubilization of
water insoluble substances, (hydrocarbon, oils, fats, grease etc.). In
micelles, the polar end groups are directed towards water and the
hydrocarbon ends into the centre. The charge on sol particles of
proteins depends on the pH. At low pH, the basic group of protein
molecule is ionized (protonated) and at higher pH (alkaline
medium), the acidic group is ionized. At isoelectric pH,
characteristic to the protein, both basix and acidic groups are
equally ionized. The stability of colloidal solution is attributed
largely to the electric charge of the dispersed particles. This charge
causes them to be coagulated or precipitated. On addition of small
amount of electrolytes, the ions carrying oppiste charge are
adsorbed by sol particles resulting in the neutralization of their
charge. When the sol particles either with no charge or reduced
charge, come closer due to Brownian movement, they coalesce to

form bigger particles resulting in their separation from the


https://dl.doubtnut.com/l/_ovpYnqkR4aoM

dispersion medium. This is what is called coagulating or
precipitation of the colloidal solution. The coagulating power of the
effective ion, which depend on its charge, is expressed in terms of
its coagulating value, defined as its minimum concentration (m
mol/L) needed to precipitate a given sol.

100 ml each of two sols of Agl, one obtained by adding AgNO; to
slight excess of Kl and another obtained by adding Kl to slight

excess of AgNQO3, are mixed together. Then :

A. The two sols will stabilize each other

B. The sol particles will acquire more electric charge

C. The sols will coagulate each other mutually

D. A true solution will be obtained

Answer: C

° Watch Video Solution
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19. The colloidal particles are electrically charged as a indicated by
their migration towards cathode or anode under the applied
electric field. In a particular colloidal system, all particles carry
either positive charge or negative charge.

The electric charge on colloidal particles orginate in several ways.
According to preferential adsorption theory, the freshly obtained
precipitate particles adsorb ions from the dispersion medium,
which are common to their lattice and acquire the charge of
adsorbed ions. For example, For example, freshly obtained
Fe(OH), precipitated is dispersed, by a little F'eCls, into colloidal
solution owing to the adsorption of Fe*™ ions in preference. Thus
sol particles will be positively charged.

In some cases the colloidal particles are aggregates of cations or
anions having ampiphilic character. When the ions posses
hydrophobic part (hydrocarbon end) as well as hydrophilic part
(polar end group), they undergo association in aqueous solution to
form particles having colloidal size. The formation of such particles,

called micelles plays a very important role in the solubilization of


https://dl.doubtnut.com/l/_nhTM9jpSuYws

water insoluble substances, (hydrocarbon, oils, fats, grease etc.). In
micelles, the polar end groups are directed towards water and the
hydrocarbon ends into the centre. The charge on sol particles of
proteins depends on the pH. At low pH, the basic group of protein
molecule is ionized (protonated) and at higher pH (alkaline
medium), the acidic group is ionized. At isoelectric pH,
characteristic to the protein, both basix and acidic groups are
equally ionized. The stability of colloidal solution is attributed
largely to the electric charge of the dispersed particles. This charge
causes them to be coagulated or precipitated. On addition of small
amount of electrolytes, the ions carrying oppiste charge are
adsorbed by sol particles resulting in the neutralization of their
charge. When the sol particles either with no charge or reduced
charge, come closer due to Brownian movement, they coalesce to
form bigger particles resulting in their separation from the
dispersion medium. This is what is called coagulating or
precipitation of the colloidal solution. The coagulating power of the

effective ion, which depend on its charge, is expressed in terms of


https://dl.doubtnut.com/l/_nhTM9jpSuYws

its coagulating value, defined as its minimum concentration (m
mol/L) needed to precipitate a given sol.
Under the influence of an electric field, the particles in a sol migrate
towards cathode. The coagulation of the same sol is studied using
NaCl, NaySO,4 and Nas PO, solutions. Their coagulating values will
be in the order:

A. NaCl > Na3S0O,4 > Na3 PO,

B. NaySO4 > Na3 PO, > NaCl

C. Na3PO4 > NaySO, > NaCl

D. NaySO4 > NaCl > Na3 PO,

Answer: A

° Watch Video Solution
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20. How many of the following statements are correct?

(a) Delta at the mouth of a river is formed due to the coagulation of
the colloidal sea water by the electrolytes present in the river water.
(b) Artifical rain is caused by the coagulation of colloidal water
droplets in the clouds by an electrolyte.

(c ) Cotrell precipitator is used in the precipitation of the colloidal
waste in the sewage water.

(d) Cheese is an example of solid foam.

(e) A colloid formed by adding small amount of AgNO; to KI
solution is negatively charged.

(f) Micelles are formed only below the Kraft temperature (T})

(g) Mixing of hydrated ferric oxide sol and arsenious sulphide sol
bring them in precipitated form.

(h) An oil in water emulsion can be diluted by addition of water.

(i) Emulsions show Brownian motion and Tyndall effect.

o View Text Solution



https://dl.doubtnut.com/l/_rBDbmtvE6lvG

Match The Column Type

1. Match column-l with column-ll :

o Watch Video Solution

2. Match column-l with column-Il :

o Watch Video Solution



https://dl.doubtnut.com/l/_pJE5SCaS9EDy
https://dl.doubtnut.com/l/_9lCXIz7o6XPz

3. Match column-l with column-II :

o Watch Video Solution

4. Match column-l with column-Ii :

o Watch Video Solution



https://dl.doubtnut.com/l/_9lCXIz7o6XPz
https://dl.doubtnut.com/l/_oR5lwLUp83hc
https://dl.doubtnut.com/l/_Djhd44SssFmL

5. Match column-l with column-Il :

o View Text Solution

6. Match column-l with column-Il :

o View Text Solution
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https://dl.doubtnut.com/l/_73sIbbMvlyBn

7. Match column-l with column-Ii :

o Watch Video Solution

8. Match column-l with column-II :



https://dl.doubtnut.com/l/_73sIbbMvlyBn
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https://dl.doubtnut.com/l/_zxtUfvQinWZ6

o Watch Video Solution

1. In a particular case of physisorption, magnitude of enthalpy

change and entropy change were observed to be 28 kJ/mole and
100 J/mole-K. Calculate the minimum temperature (in .° C) above

which physisorption will become non spontaneous.

o Watch Video Solution

2. Molecular formula of starch can be represented as (CsH1¢Os),,.

If the gold number of one such starch molecule is 6.48 and 0.01


https://dl.doubtnut.com/l/_zxtUfvQinWZ6
https://dl.doubtnut.com/l/_oiMm89AtYBL6
https://dl.doubtnut.com/l/_FHKPMDnhROqI

millimoles of the above starch are required to be added to 10 ml of
gold sol to prevent coagulation by 1 ml of 10% sodium chloride

solution, then calculate the value of n.

o Watch Video Solution

3. 0n addition of 1mL solution of 10 % NaCl to 10mL gold sol in
the presence of 0.0250g of starch, the coagulation is just

prevented. What is the gold number of starch?

o Watch Video Solution



https://dl.doubtnut.com/l/_FHKPMDnhROqI
https://dl.doubtnut.com/l/_5pK3rGhD2950

4. Calculate the number of sols which are negatively charged.

o View Text Solution

5. Calculate coagulation value of AlCI; if for coagulation of 400 ml

of a gold sol, 427.2 milli-grams of AlCl; is required.

o Watch Video Solution

6. At a temperature of 180 K, O, gas adsorbs on Pt surface following
Freundlich adsorption isotherm. Following experimental data is

obtained.


https://dl.doubtnut.com/l/_LRbEIJWFXaOM
https://dl.doubtnut.com/l/_gn8INBnS86ja
https://dl.doubtnut.com/l/_5ohLDcTlyw7S

where P is partial pressure of gas and x/m is mass of gas adsorbed
per gm of platinum. Calculate millimoles of O2 adsorbed per gm of

platinum at 4 bar pressure and 180 K.

o Watch Video Solution

7. For the coagulation of 100mL of arsenious sulphite sol, 5mL of

1M NaClis required. What is the flocculaton value of NaC1?

o Watch Video Solution

8. In order to cause coagulation of 200 ml of gold sol, 585 ml 1%

w/w NaCl solution having density 1.2 gm/ml was required. What will


https://dl.doubtnut.com/l/_5ohLDcTlyw7S
https://dl.doubtnut.com/l/_AAMgzCxCr7CB
https://dl.doubtnut.com/l/_U0KbvcqwI9Qc

be the coagulation value of NaCl?

(Express answer in milli-moles/litre)

° Watch Video Solution

9. 6.84gmAly(S0O,), is needed to coagulate 2.5 L of AsyS; sol

completely in 2.0 hrs. The coagulation value of Aly(SOy), is :

° Watch Video Solution

10. A container contains 1 litre, 2 M solution of cyclobutane in
either. A piece of 3 kg charcoal is dipped in the solution. Molecules
of cyclobutane get adsorbed on the surface of charcoal and form
monolyer cyclobutane. The molarity of resulting solution decreases
to 1 M. If surface area availble for adsorption on charcoal 2cm? / gm
. Then find distance (in pm) between two adjacent carbon atoms in

a cyclobutane molecule.


https://dl.doubtnut.com/l/_U0KbvcqwI9Qc
https://dl.doubtnut.com/l/_84EdeNkNyOOv
https://dl.doubtnut.com/l/_vdB2a2pylio7

(Assume: Shape of cyclobutane molecules as a perfect square.) [Use

: Ny = 6 x 10%]

° Watch Video Solution

1. In a vessel Oy gas molecules were adsorbed on solid surface
causing its partial pressure to decrease from 1 atm to 0.5 atm.

Given: Ny = 6 X 1023, Volume of vessel = 2.24 L Temperature = 273
K, Total area of solid surface = 10%cm?

Number of active sites per unit area = 10**m =2 Find number of

O, molecules adsorbed per active site.

° Watch Video Solution

12. Count the number of correct statements.
(@) Minimum potential required for electrophoresis is called zeta

potential


https://dl.doubtnut.com/l/_vdB2a2pylio7
https://dl.doubtnut.com/l/_tABlYkM4ztd6
https://dl.doubtnut.com/l/_HQ0ECDDNZp9e

(b) Tyndall effect increases with increase in difference in size of
particle and wavelength of light used.

(c ) Minimum amount of electrolyte in millimoles per 100 ml
required to cause precipitate in two hours is called coagulating
value.

(d) Zeolites are shape-selective catalyst.

o Watch Video Solution

13. How many of the following may cause coagulation in colloidal
solutions?

(a) Tanning

(b) Dialysis

(c) Cataphoresis

(d) Mixing of a lyophilic sol with a lyophobic sol

(e) Mixing of two lyophobic sols

(f) Mixing sol-l (AgNO3 with excess KlI) and sol-ll (KI with excess


https://dl.doubtnut.com/l/_HQ0ECDDNZp9e
https://dl.doubtnut.com/l/_mKh8aOdJCePJ

AgNOs)

(g) Addition of alcohol to a hydrophilic sol followed by addition of
small quantity of electrolyte

(h) Centrifuging

(i) Freezing

o Watch Video Solution



https://dl.doubtnut.com/l/_mKh8aOdJCePJ

